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SMEEDRIEE
BIEE
R: =)
No |BIZ R AERR (34t 5cm)
= (#1£100cm)
10/24 0.022
1 | BLEE/NER 9:43
£ 0.028
10/24 0.022
2 BERE 10:44
£Y 0.026
10/24 0.034
3 PR/ 11:12
2y 0.032
10/24 0.018
4 KIE/NEE 11:29
£Y 0.018
10/24 0.028
5 R L/ AR 14:50
=Y 0.024
10/24 0.022
6 INLIREFR 15:02
£ 0.022
10/24 0.022
7 INILINERRR 15:10
2y 0.022
10/24 0.022
8 | A OARE AR 15:14
£Y 0.020
10/24 0.018
9 miEREM 15:25
21 0.018
10/24 0.028
10 CHLREF 15:35
£ 0.022
10/24 0.032
11 RN 15:50
2y 0.028
10/24 0.024
12 | A OGERAL R A 16:05
2y 0.026
10/24 0.044
13 AIORER 16:20
£y 0.040
10/25 0.036
14 AR 10:00
£Y 0.032
10/25 0.030
15 KB INER 10:15
£Y 0.030
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